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P g SR
ESR S TR = 1 =i Q1 IV NI )
By 3% AFI04407H 11 H eI Dt e/ 76 kv (Biir)
fh 4 JE Hh & Wae | %K F e T fE g2y ]
EPN S HF & 10. 00| FA % 325 3,250 2,106 1,958 1,782
H X k¥ 15. 00 | ¥ 360 5, 400 918 803 648
X 5D FiE 10. 00| AH%F 300 3,000| 1,080 974 540
E 9 NAE E B 4. 00| FH%f 52 208| 3,564| 3,454 3,240
EN .20 #xr| 200 o | 10|
H % & I 3. 00| FHxf 56 168 1,512 1,280| 1,188
H A [T 1. 00| FHxf 230 230 756 536 270
ENIEE 500 Fa%F | 1 1 5| | 2,700
AR s 5. 00| FH*} 377 1, 885 1, 620 1,333 864
g OBO| 0.40| #Exf| 2,840 1,136 130 sl 65
= G 4. 00| FH%f 83 332 756 602 540
g OB | a00| fakr|  Taa| 2,976| 1,512| 1,070 540
I Bl 5. 00| FHxf 42 2101 1,728] 1,450 864
F o | 500 faxt|  790| 3,950| 1,620 1,317] 756
-~ & ) 5. 00| FH%f 8 401 1,296 1,215 864
EN 0.15| k%t | 37| 13| 65| 51| 49
~T b=k B3t 3. 00| FH%f 461 1,383 2,592 2,122| 1,620
g OBO| 0.20 #xr|  se0| 72| 130 7| 76
Bt AbifEE 0. 10| FA%f 80 8 140
H i (i 5. 00| FHxf 124 620 2,700 2,446| 1,836
RenE B 10. 00| AH %t 34 340 1,134
A= 4 S 10. 00| FHxf 51 510 1, 458
B JEE I 10. 00| AHxf 34 340 3,240 2,128 1,080
£ A L 10. 00| AHxf 529 5,290 2,160 1,700 1,296
LA A £ B 10. 00 | #B5f 1, 060 10, 600 864 645 54
P=—LF R £ B 4. 00| AH%F 570 2, 280 972 588 54
Tayal— E % 5. 50| FHxf 35 193 2, 592
L xon & A 4. 00 | FHxF 10 40| 3,240 3,110| 3,024
AEHER w5 0. 10| #Hxf | 4, 450 445 140 94 65
ZDEH £ ¥ 0. 20 [ #Hx} 750 150 66 41 10
LU E % 0. 20 | FH %} 150 30 82 59 44




1D:1210 P- 2
P g SR
ESR S TR = 1 =i Q1 IV NI )

Rz AFI04407H 11 H HEIDTA v 65 ko (BiiA)
i 4 JE = Wae | %K F e T fE g2y ]

PE i % 5. 00| FH%} 234 1,170  4,536| 2,920
FI30 T X Bk 0. 30| FH*} 660 198 400 361 302

g NI 0. 30 | #Hx%f 140 42 432
7 i Al 0. 50 | #H 5%} 1, 400 700 378 362 324
[EIIN Ao 16. 00| AHxf 1,716 27,456 4,752 3,719 3,024
5 m | 1550 fxk| 300 4,653 5,184 3,903 2,916
/NEVE I A 10. 00| fHxf 20 200 2,808 2,049| 1,728
AVava 7 4 U E | 13.00| fH%F 26 338 2,484| 2,438 2,376




